114 Which of the following is an example of | 117 Whatis the fate of a piece of DNA carrying only

__actingmorphic Mower? gene of interest which is transferred into an alien
e " organism?
(1Y Cassia (2Y Pisum A. The picce of DNA would be able to casltiply
(3) Sesbania Mmm

itself independently in the progeny cells of
the organism. "1

: Ny " 1 integ i f'tl
115 ldentify the type of Mowers based on the position B. It may get mu;:j_r:rﬁted into the genome of the
; recipient. v

t"’.l

of calyx, corolla and nndmﬁilum with respect to

. f . C. Itmay mulnplvg.nd be inherited nlung with
the ovary from the given ﬁgurcs (n) and (b) the host DN A IH
5
:,, D. The alien p:ece qf DNA is not an integral

part of chromosome.
E. Itshows uhiliiy to replicate.

Choose the correct amtw:r from the options given
below: |

® : (1) DandEonly "'/
\__,Li-j"h and C only ;1 :
e (3) AandEonly -
(1Y (a) Hypogynous; (b) Eﬂ_ig}'lmmi (4) A and B only ) [_;.
(2) (a) Perigynous; (b) Epigynous
\_M“) Perigynous; (b} Perigynous 118 Hind Il always cuts DNA molecules at a particular
(4) (a) Epigynous: (b) Hybbkynous ? E?mt called mcmgliltmn sequence and I‘I.K.‘I(EII;ISFIEIS
o
116  Match List [ with List 11 b m x | ”F{z} i
i ; E iy {3} 10bp .i.i',(‘i-} S bp
List 1 [I:lst u
A. Nucleolus 1. .'Sl,m of formation 119 The cofactor of the c;nzyme carboxypeptidase is:
of glycolipid (1) Niacin (2) Flavin
B. Centriole . Organization like (3) Haem 4y Zine

ithe cartwheel

¢, Liébeptsts 1. Site for active 120 Which of the f'nllmﬂng are required for the dark
o reaction of photosynthesis?
Nbosomal RNA A, Light pi
re : i i)
isvnthesis B. Chlorophyll .
D. Golgi IV. Eor storing C. Co, v O
apparatus futrients D. ATP v O
Choose the correct answer from the options given E. NADPH v+~
below: e E::Imae the correct answer from the options given
(1) A-Il, B-lll, C-1, D-IV N “]'D“B )
" » Cand i
(2) AL, B-IV, C-IL, D1 () : - D o,
(2T D and E only")
(3) A-l, B-11, C-111, D-1V p{) {3) DandEonly L
u ¥ [ = -
MI.B—H.L—I}. DA, (4) A, BandC only
R3_English | . 17 >
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99
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R3

670 ¥M
The rate of a re:lhyﬁhﬂb quadruples when

temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R = 83141 K ' mol ! log 4 = 0,602

'ﬂ(T rﬁ; Ea_imy

2l

{1y 3804 kl/mol

(2) 3.80 kMol

(3) 3804 kl/imol

23K O X 3eo
During the preparation of Mohe's salt solution
{Ferrous ammonium sulphate), which of the
following acid is added to prevent hydrolysis of
Fe'* ion?

concentrated sulphuric acid
dilute nitric acid
dilute sulphuric acid

dilute hydrochloric acid

The plot of osmotic pressure (17 ) vs concentration

(mol L71) for a solution gives a straight line with

slope 25.73 L bar mol™!. The temperature at which

the osmotic pressure measurement is done js:
(UseR=0.083 Lbarmol ' k)  RT* a5
(1) 310°C

@ 120 ke arec - q\a¥
1:‘3 %ﬂ:‘! i‘}‘-ﬂ 104
Identify the correct answer. n—-';‘ﬂl, '

(1) BF; has nop-zero dipn'l::monmnt){
(2) Dipele moment of NF, is greater than that

of NH;. W

Three canonical forms can be drawn for

e
LDl 1on.

(3)

(4) Three resonance structures can be drawn for

olone

English | vl 6. 15
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[ Botany : Section-A (Q. No. 101 to 135) |

101

ﬂ.

103

6

=t

. T;;sf“"”*m L~ Phospholipids
K = JE—JT {3] Cﬂl'hl}h}'drﬂtgs

A transeription unit in DNA 15 defined prin'mrfl:,‘-r
by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Structural gene, Transposons. Operator gene
(2) Inducer, Repressor, Structural gene

M romotor, Structiral gene, Terminator
,]4} Repressor, Operator gene, Structural gene

gy o = Es ﬂrm;‘%
L]
pl WY &E'& ,lqm [dentify the set of correct statements:

=4 A The Nowersof Vullisnerig are colourful and

produce nectar. g

B. The flowers of waterlily are not pollinated
by water, L7

C. In most of water-pollinated species, the
pollen grains are protected from wetting.

D. Pollen grains of some hydrophytes are long
and ribbon like,

E. In some hydrophytes, the pollen grains are
carried passively inside water. L—"

Choose thgeesregl answer from the options given

below:

iy A B, Cand D only
{(2) A.C,DandE only

LM C,Dand E only

(4) C,DandE only

Lecithin, a small molecular weight organic

compound found in living tissues, is an example
ol

2) Glycerides
(4) Amino acids

[hese are regarded as major causes of biodiversity
loss:

A Over exploitation \_~

B.  Co-extinction v

C.  Mutation

D.  Habitat loss and fragmentation—
E.  Migration

Choose the correct option:
(Y A BCandD only
(2) A, Band E anly

\L3A, B and D only

9 A.Cand D wnly

o
\KC_-‘ 8"
74
&
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i David Tilman

Adesande’ von

Pl ey

Paul Ehrhich

Nateh Dast Dl Dase [
List 1
Hobert Moy

List 11

Species-Ared

relationship
Long term
ccosyslem
experiment using
out door plots
Global species
diversity at about

7 million

V.

Rivet popper
hypothesis

Choose the correet answer from the options given
below:

e KA B, G-V, Do

(2} A-L B-Il, C-1, D-IV

(3)

A-111, B-1V, C-11, D-1

(3)  A-lL B-IIL, C-1, D-1V X'

3 ldentify the correct description about the

ziven

figure:

(2)

i1

i4)

Water pollinated flowers showing stamens
with mucilaginous covering.
Cleistogamous lowers showing autogamy.
Compact inflorescence showing complete
nHJll_’l;g;m]}-.

Wind pollinated plant inlloreseence showing
lowers with well exposed stamens,

i,_lfngiiuh |

144

I an ecosystem if the Net Primary Productivity
(NPP) of Tirst trophic level is
100x Ckeal m* ) ' what would be the GPP

(Gross Primary Productivity) of the third
trophic level of the same ecosystem”?

(1 xthcal m %) ¥ I
(2)  10x (keaf m™?2 ) yr =
i3 ]—nﬁ{ku:r! " E}_w'_l
Jx

(4) ﬁj (keat m 2 ) yr™!
Match List | with List 1]

List I List 11
A. Rose I.  Twisted acstivation
B. [IPen Il Perigynous flower
C. Cotton /m Drupe
D.  Mange V. Marginal placentation

Choose the correct answer from the options given
below:

(1) A-L B-IL, C-I1L D-IV
(2) A-IV, B-IIL, C-I1, D-]
(3)  A-IL, B-11, C-IV, D-1

(DA, BAIV, C-1, DA

&4& Match List | with List 11

List I List 11
(Types of Stamens) (Example)
A Monoadelphous 1. Citrus

B. Diadelphous ——11" Pea
C. Fclj-uclulphuyll. Lily
D.  Epiphyllous IV. China-rose

Choose the correct answer from the options given
below:

() AV, Bl C-01, D=1 R

AL BAL, C-1V, Dol

21

(3) A-ULB-L C-IV, D-1L K
H A=V, B-11, Ca1, DA

| Contd...
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180 Given below are two statements :

Statement I ¢ In the nephron, the descending limb

of loop of Henlggis imperme o water and

permeable to elestivlytes.

Statement 11 : 'lh:} proximal convoluted tubule
is lined by simple columnparg, brush border
epithelium and ingreases the surface area for
reabsorption. %!'3

In the light of the above statements, choose the

correct answer fom the options given below :
s
k/\Ah Statel}fé%n I and Statement I1 are false

181

(2) Statement IMs'true but Statement IT is false )

™~
(3) Statement IS/ f: alse but Statement II is true

L
(4) Both Statement [ and Statement Il are true

WO
Given below are'fio statements : one is labelled

as Assertion Alfhd the other is labelled as
1)

l-..-mu

Assertion A: Bré%t—feeding during initial period
of infant growth {¢ recommended by doctors for
bringing a healthy baby. L~

O
ReasonR: Colosgglm contains several antibodies

absolutely essential to develop resistance for the

new born baby. e
[~

In the light of th&above statements, choose the
most appropriatéanswer from the options given

Reason R :

below :

(1) Both A and R are correct but R is NOT the
correct explanation of A.

(2) Alis corrcqt"lput R is not correct.

(3) Ais nof m?‘n“réci but R is correct,

M\ A zmd_'R’ are correct and R is the correet
explanationof A,

R3_English |

.
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182 Following are the stages of pathway for
conduction of an action potential through the
heart:

A. AV bundlel ()
B. Purkinje fibi#s
C. AVnode T7)
D. Bundle bratohes
E. SAnode é:)
Choose the correctsequence of pathway from the
options given below :
(1) A-E-C-B-D (2) B-D-E-C-A
(3) E-A-D-BGn " T-C-A-D-B
183 Which one is‘:;;e correct product of DNA

dependent RNAy polymerase to the given

emplatehs 40 Uk
rﬁggcgf@ﬁggm [atfrcas

(1) S’AUGUAAACEUUUAUAGGUAAGUB’K
2) S’AUGUACQQ_UU_LJAUAQPGA]AGUT

3) S°A GTACC‘G:FTTATAGGTAAGTB’)(
saAUGUAcc:aUUJ_J_guAQFUAfAGm

!
184 Match List I wim,ist I

List I [~ List II
A. D Cotton bollworm
B. ADA deficiency
. . Emphysema
D. Enzyme O [V. Corn borer
replacement *<ff
therapy ™
A
Choose the corré;‘g answer from the options given
below : i’_*
(1) A-lIL B-I, E%’Il, D-IV

¢ Z111, B-1V, C-1, D-II
(3) A-Il, B-1V, C-1, D-11I
(4) A-II, B-1, C-1V, D-III

A0

2

The “Ti plasmidiof Agrobacterium tumefaciens
stands for ™

(1) Tumor indgpendent plasmid

185

umor indueing plasmid
(3) Temperatire independent plasmid
(4) Tumour ink'hi"biting plasmid

[ Contd...
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147 Which of the following are fused in somatic
" . - ¥ . ¥ ™ : d"
hybridization involving two varicties of plants?
(1) Samatic mnhl}'um. :
4

p. Tiuplnﬁls <
3 Pollens
E4: Callus M,
Lij
148 Match List D with Liscil
List I s List I
A. Frederick E Genetic code
Griffith
B.  Francois Jacob il Semi-conservative
& Jacque '“’_i" mode of DNA
Monod replication
C. Har Gabind ﬁ;l‘} Transformation
Khorana ey
D. Meselson & [l.\';. Lac operon
Stahl i
LD ; .
Choose the correct answer from the oplions given
below:
(1 -l B-1V, C-I, DN
(2)  A-IL, B-IN, C-1V.1s1
(3) A-IV. B-1, C-11, DoH]

(4) AL B-1L, C-1, D1y

I..t .f
IJFLEW present inchloroplast is:
/ Circular, double stranded

(2)  Linear, single slrrlln(:k:d
(3) Circular, single stranded
{(4) Linear. double stranded

b

150 Mateh List I with List

List T * Listn
A. Citric acid . Cytoplasm
cyvele / L
B. Glycolysi ) Mitochondrial
™ matrix
C. Electron I  Intermembrane
transport O space of
system mitochondria
3. Proton IV. Inner
pradient mitochondrial
\O membranc

" | iy - a '
Choose the correct answer from the options given
i

T A-IL, B-1. C-1v, 341

(2) AUl B-1V. C-1. b1
(3) A, B, c-10, 5
AL B, can, DSV

R3 Epgrish |

(4)

22

[_ ~ Zoology : 5ecti1_ni—.r}£}. No. 151 to lﬂ'ﬂ___ _
IS1  Which of' the following is not a natural/traditjn,
contraceptive method?
(1) Periodic abstinenge

(2) Lagtational amenctrhea
Ml[s (™)

(4) Coitus interruptds )

["\-.
152 Match List with Lisf 1
List I J List 11
A. Common col Plasmodium
B. Haemozoin Typhoid
C. Widal test Rhinoviruses
D.  Allergy ,-*r_} IV, Dust mites
Choose the correct ansiver from the options give:
below : )

(1) _A-L B-1II, C-11, v
A-ITL, B-I, C-I1. DAV
(3)  A-IV, B-II, C-111, D-1
(4)  A-II, B-1V, C-i1l, D-I
|
b
153 Which of the E}I]nwi?g.,smtcmcnts i incorrect?
(1) Mosi cnmmnnly.dscd bio-reactors are o
stirring type.
1o-reactors are used to produce small scal
bacterial n::ullun‘:ti,'3

(3) Bio-reactors have an agitator system

anoxygen delivery system and foam contre
svstem,

(4) A bio-reactor provides optimal growit
conditions forachigving the desired produc
™M
154 Which of the folléing are Autoimmune
disorders? [~ Py yeryers ”
A, Myasthenia gravi9
B.  Rheumatoid arthirifis L~
C. Gow
D. Muscular dystrophy ¥
E.  Systemic Lupusfmvthematosus (SLE)
Choose the most apprfipriate answer from the
options given below 1)
B&Eonly W)
(2) B.C&Eonly [~
{3) C.D&E only )(—:
4} A, DB & D only K
| Contd,_
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55  Which reaction is NOT g redox reaction? 58  The E° value for the Mn?"/Mn?" couple is more
() 2KCIOy+1; 2> 2KI0;+ Cly positive than that of Cr3*/Cr?* or Fed'/Fe?' due
(2) I'-’l2 + C'Iz > 27icl - to change of
BaCl, = Na,50, — BaS0, + 2 MNalCl L5 )
4y Zn+t EHSO‘T --421155{}4 + {.."u — () &to tf’ﬁc{mﬁgurntlml
- P - 2 (21444 10 d¥ configuration
~ ‘o i e e
e T::? e wjti“"l"m : List 11 (3) d*to .:'r:lg:'cnnﬁgurmiun
{Molecule) r (Number and types of (4) d3 to d*configuration
e L(7 bond/s between two L5
W -'g —C ¥ carbon atoms)
Ar ethang

one o-bond and 59 The highestnumber of helium atoms is in

two w-bonds (1) 4 uofhelium

B. ethene €7 two m-bonds (¥
C. carbon . one o -bond (2) 4 gofbglium
moeenie; Co (3) 2.271098 L of helium at STP
D. ethyne & . one ¢ -bond and =)
ezl y one n-hond‘ ‘ t_/(,‘r)"’!i mol of helium gy ala
Choose the correct answer from the options given
below:
(1) AV, B-llI, C-1L, D1 R ; 1 s
2 AL, BV, D1 60  Which plc_;-lE_pr Inkvs = is consnstnn-t- with
(3) A-HI, B-IV, C-1, D-1 Arrhenius édbation? pe Ae
(4)  A-l, BV, @1, D-it K ") 13311 Ind =
. NI
57  Match List | with List 11 - J‘
List [ {Complex)’ List [l (Type of (2 E
W isomerism) e
£
A, [(TG{NI{A}S{NDE]JCIE Solvate
e Isomerism
15 R
Co[NH, ) (S0, Jﬁr Link "‘} :f
B L 0[ 3}5{ 4)‘ inkage 4 =
L ISOmerism L

=i}

11, lonization

C. [Ca(NHJ }r.] [E.r[th]ﬁ]

L # )

isomerisim ) ;
61 The compound that will undergo SNI reaction
D. [Cu{HﬂD}ﬁ-ICH IV. Coordination with the fastest rate is
. L isomerism (M B
Choose the correct answer from the options given {13 D—EE; (2) ©/ ?Q
below: y "y
(1) A-l B-IIL G-IV, D-ITR W,
ey jie kg
2y AL B-IV, €111, D-IK | I} ,
(3) A-IL, B-IVZCHIL DA L)}/ e @) Q&”
L c-1y, DAl 4
W'II. B-11) C-1V, o A
i
R3_English | 2
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Botany : Seetion-B (Q. No. 136 to lﬂﬂ}___]

136

M[iihlwrc"in

Spraying sugarcane crop with which of the

following plant growth regulators, increases the

length of stem, thus, increasing the vield?

(2) Cytokinin
(3} Abscisic ackd
1y Auxin

Given below are two stalements:

Statement 1 : In Cy plants, some Oy hinds 10
RuBisCO. henee CO, fixation is decreased!

Statement M : I C,y plants, mesophyll cells show

very hittle photorespiration while bundle sheath
cells do not show photorespiration.

In the light of the above stateme

nts, choose the
correct answer from the

options given below:

(1} Both Statement | and Statement || are false

Wﬁmlun‘-ent Lis true but Statement 11 is false

138

(3)  Statement | is false but Statement 11 is true

(4} Both Statement | and Statement 1 are true

B.

.

Match List | with List 11
List 1

List 11
GLUT-4 I.  Hormone
Insulin Il Enzyme
I'rvpsin I Intercellular
ground substance
Collagen IV. Enables glucose

transport into cells

Choose the correct answer from the options given

below:

(1) A-lL B-NII, C-l1I, D1V
(2) A-lL B-lII, C-1v, D-}
(3) A-lL B-1V, C-1, D-1

Jr f-l).r"ﬂ-l"»". B-1C-1, -1

It3 English |

20

139

.

Read the following statements and choose ¢

h'-'.' Ser
of correct statements:

I the members of I’hacophyceae,
i chat
A, Asexual reproduction oceurs usual|

billagellate zoospores. »—

Sexual reproduction is by O0ZAMous m
only. %

C.  Stored food is in the form of carbohvdrate,
which is either mannitol or laminarin. v~

Y by

B. ethy)

. The major pigments found are chlorophy)|
a. ¢ and carotenoids and xanthophyll, L
E.

Vegetative cells have a cellulosie wall,
usually covered on the outside by gelatingus
coating of algin. A—"

Choose the corre
below:

(1) B,C.Dand E only A

clanswer from the options given

WC* D and E only

140

141

does not involve oxidation of subst
R

H]ﬁﬁiﬁmEmhK
(1) A.B.Cand D only K

Which ol the tollowing state

ment is correct
regarding the pr

ocess of replication in Ecoli?

(1) The DNA dependent RN A polymerase
catalyses polymerization in

one direction.
that is 5" 53°

(2) The DNA dependent DNA polymerasc
catalyses polymerization in 37— 3 as well
a5 3’ —» 5" direction.

(3) The DNA dependent DA polymerase
cami}xespﬁlymurimtiun in3” 53 q:ijra.-clin'bn-

(4) The

DN A dependeny DN A
catalvses pul}merimliun m o
thal is 3" = 5"

polymerase
ne direction

ldentify the stepin tricarboxy lic acid evcle, which
Tale
(1) Suecinic acid — Malic

(2} Succinyl-CoA — Sucginie acid

acid

(3) lsocitrate — @ -ketoglutaric 4.1y

(4}

Malic acid Oxaloaceric R |
i (4

| Contd..,




9 191 Match List I with List I1 : 193 Identify the correct option (A). (B). (C). (D) with
respect to spermatogenesis.
List I List T1

(inII{I |

A. Unicellular glandular 1. Salivary glands '
[

epithelium LH (A)
\: \:
B. Compound epithelium 1. Pancreas D) (C)
; N {

C.  Multicellular . Goblet cellsof Androgens Factors
glandular epithelium alimentary canal " ) o
_— Formation of spermatids (D)

D. Endocrine glandular V. Moist surface of
(1) ICSH, Interstitial cells, Leydig cells,

epithelium buccal cavity . spermiogenesis.
‘ i e , ' (2) FSH, Sertoli cells, Leydig cells,
Choosc.e the correct answer from the options given —,
belows (3) ICSH, Leydig cells, Sertoli cells,
(1) A-1V, B-llI, C-I, D-II spermatogenesis.

(4) FSH, Leydig cells, Sertoli cells,

UM—-TH, B-1V, C-l,'D-lI spermiogenesis

(3) A-Il, B-I, C-1V, D-III 194  Regarding catalytic cycle of an enzyme action,
(4). A-IL B-L C-IIL. D-IV select the correct sequential steps :

T ’ A. Substrate enzyme complex formation.
B. Free enzyme ready to bind with another

substrate.
192 Match List I with List II : C. Release of products.
- ) D. Chemical bonds of the substrate broken.
i ListII E.  Substrate binding to active site.
A. RNA polymerase 111 I.  snRNPs Choose the correct answer from the options given

below :
B. Termination of (1) AE,B,D,C
- ' (2) B,A,C,D,E
transcription II.  Promotor (3) E,D.C.B.A
C. Splicing of Exons [I. Rho factor (4) E,A;D,C,B

D. TATA box IV. SnRNAs, tRNA 195  The following are the Statements about non-
chordates -
Choose the correct answer from the options given A.  Pharynx is perforated by gill slits. %
below : B. Notochord is absent. —
C. Central nervous system is dorsal.,
(1) A-II, B-II, C-1V, D-1 D. Heart is dorsal if present. L~

E.  Postanal tail is absent, \~

(2) AL B-IV, C-I, D-II Choose the most appropriate

answer from the

options given below :
, B-111, C-1, D-11
LM (1) A,B&Donly '(‘3'7{,]5& E only

(4) A-II, B-1V, C-I, D-111 (3) B,C&Donly (4 A&Conly

R3_English | 29 [ Contd...




\ hich one of the following can be explained on
e basis of Mendel's Law of Dominance?

[ R b - : .
A, Out of one pair of factors one is dominant
. and the other mlh;"““i\-c_

133 Given below are two statements;

Statement 1 : Chromosomes become gradually
- . L v
visible under light midroscope during leptotene
-l

=) ;
I .f\lfulﬂ:'..‘;’,i'ﬂiﬁ?w any expression and both Slage. "
{
the characters’ ippear g5 such in F. : _ : . i
generation. WL v Fa Statement 11 : The begining of diplotene stage is
Fadion ae B vl o i recognized by diséolution of synaptonemal
€ l;i::ll:“* accur :‘lllji‘alrs n normal diploid i Lh.x ) P
bl . "X,
i : \po p O
P e pnbic controlling o particular In the light of the above statements, choose the
| character is called facyor, ; _
The expression\E} correct answer from the options given below:
k. 12 S<Ervasion ; “:”l Cone of the parental . )
characters is foliifd in 4 monohybrid cross. ¥~ (1) Both StatementTand Statement I are false
‘hoose the correct adder | > ontians o} 5 :
;:'rclm\- :‘1 ) e from the options Elven (2) Statement 1ist

LM{'. Dand E (E)I{I)'
() B.Cand D only,)
3) AB,C.DandE
() A.BandC only

Vs
131 Identify the part of lJu;lst:ed from the giv
which is destined 19 4orm root w|
germinates,

en figure
en the seed

M)
'[ ta
O

0D

L)

=

(")

sl
~2) C

) A
W0

2 Auxin is used by gardeners lo prepare wc?d-l'ni::,;
lawns. But no damage is caused Lo grass as aux

h 153) : s only.

(1) promotes abscisgion of mature leaves only

affect ftature monocotyledonous

2 s not _
E Tanh {¥)
g (! division in grasses. 10
in cell’ division n grass
(3) can help m u%ii

|
!‘U? but Statement 11 is false

L(—s“‘l""g;emcm Lis false but Statement 1 is true

! ()
(4) Both Statement T and Statement I1 are true

134 The capacity 1o penerate a

']

‘ whole plant from any
&4
7 cellof the plant is called:

(1) Micropropagatio

(2} Differentiation. ¥

(3) Somatic hybridization %

[} (8]
Mﬁpmcncy

135 Given below are twi Statements:

Statement 1 : P:y:.qnch;.ma is living buy
collenchyma is dead tissue. R

Statement Il : Gym ﬁusptnns lack xvlem vessels

but presence of xylem vessels is the characterisyj.
5 " L)

of angiesperms, L

In the light of the above statements, choose the

correct answer from the options given below:

and Statement || are false
\ :

(2)  Statement s true but Statemeny I is fuy
s false

L}}/{tmunwul Lis thise but Statement N st
. ] u 1

(1) Both Statement I

produce gmwm-_‘f )
- anical dominance.
(4) promotes apicat ¥

R3_English |

(4) Both Statement Fand Statemey, M are i
Ug
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121 The type of conservation in which the threatened

species are taken out from their natural habiiat
and placed in special setting where they can be

protected and given special care is called:
Hodiversity conservation

(2}~ Semi-conservative method

(3} Sustainable development

(4 b

i-xife conservation

122 Match List 1 with List 11
List 1

A Two or more

List 11

Back cross
alternative

forms of a gene
3. Crossof F, 1. Ploidy
progeny with
homozygous
recessive parent

Cross -:-FFI

.  Allele

progeny with
any of the parents
Number of Iv,

chromosome "

D. Test cross
sets in plant
Choose the correct answer fr
below:
(1) A-IL B, C-1IL, DTV
(2N BV, C-1, Dy
(3) AV, B-1i1, C-11., D-1
(4)  A-L B-1I, C-111, D1V

om the options given

123  Formation of interfascicular cambium
developed parenchyma cells is an exa
{1) R cdifferentiation

M{Jiffc rentiation

(3

from fully
mple for

Maturation
(4) Differem iation

124 Spindle fibers #ttach 1

chrompsomes during
-~ N
AM%;:: phase

{3 I-'f;l.uphhf-'.ck'

Lkinetochores of

(2} Anaphase K
¥ Prophase |

R3 English |
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125 Ina plant, black seed color (BB/Bb) is dop,
over white seed color (bb). In order to find 4

the genotype of the black seed plant, with whicl
of the following genotype will you cross itr
(I (2) Bb
(3) (4) BB

inang

BB/Bb

126 A pink flowered Snapdragon plant was Crossed
with a red flowered Snapdragon plant. What 1ype

[

of phegotype/s is/are expected in the progeny?
Meﬂ flowered as well as pink flowered plants

(2)  Only pink flowered plants
(3) Red, Pink as well as white flowered plants
(4) Only red lowered plants
127 Inhibition of Succinic deh
malonate is a classical example of:
(1) Feedback inhibition
<) Competitive inhibition
(3) Enzyme activation
(4) Cofactor inhibition

ydrogenase enzyme by

128 Given below are two statements:

Statement I : Bt toxins are insect group specific
and coded by a gene cry lAc, w
Statement II : Bt toxin €Xists as inactive
Protoxin in B. thuringiensis. However. after
ingestion by the insect the inacy;
converted into active form dye
the insect gut.  pf
In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement | and Statement 11 are false
=7 Statement 1 is true but Statement [] is false
(3) Statement 1 is false but Statement 11 is true
(4) Both Statement I and Statement 11 are true
129 In the given figure. which compop, t has thi
outer walls and highly thickened inner walls?

| Contd,
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Identify the major product € formed in the
following reaction sequence

MNaCN

© e
CH;-CH, -CH, ~dg————A %-—Cl-h—ﬂ&

G\ 2o
o " Neon
~ Partial hydrolysis T Bt A
() 2 ( major)

L
(1} butylamine o

(2) butanamide
(N «a- bmmﬁhuu}ﬁ%ic acid
(4) propylamine M

Ky

The pair of lanthanajtkions which are d meti
. p cgl.i_} ns which urw
(1) Ce™and 2O g W™
(2) Gd* and Eu?+

(3) Pm™* and §m*

\_4-Te* and \'hliﬁ

M

For the given reactign;

(O—¢-cn kwiom .,
2

- {majer
b \D Product)
‘Pis
;L,H‘l@—cme
OH on{!
|
@ O-cu-cnd)
o n. ™

d X conliiis 329 of
lﬂﬂ 03 Acomp_luun contdins JE“A.GIA.E{J‘VuuFBaml
L g~ remaining pr:rlcenluly:bui C. Then, the empirical
{t formula of X s : L)

(Given alomic masges.of A= 64: [3 = 40;C=321)

(1) ABCy Q) AB,C,

(3) ABCy "‘DH} A,BC,

Lt
R3 English | 3% g g4°
20X [ LYY 64
% X8 ¢ o

94

95

Given below are certain cations, Usine ; -
qualitative analysis, arrange them jp ine
group number ffom 0 to VI,

A AR GIEY B Ccu?t i

'ea,

C. Ba T p cot W
E. Mg gl

Choose the corpect answer from the

below: \0)
(1) B,C.A,D,E
(2) E.C,D, B,

(3) E.A.B,

LB AL D,Q_ﬁ_
)

The work doie-during reversible isother
expansion of ofrg mole of hydrogen gas a1 3
from pressure a£20 atmosphere to 10 atmospl

Options gj

15: 5
(Given R = 2.0 cal K- mol-1) 28T e
W— 413.14 ;ﬁerics af ﬁsﬁfl
WIE.IrtcaJ@ics -3 hzlr!?k ujj/“
(3) 100 calorjey &

6

(4) 0calorie )

l--.
Major product§d and
reaction sequehee, are

-
LI A

(radr
B formed in tlf?: follow

Oty o

" W Ap B HC
i)
. B~

M"'L e

ko b : B- \©
| Congd
e —
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| Zoology : Section-B (Q. No. 186 to 200) )

186

187

Match List I with Lijst IT :

List 1 List 11

P wave I.  Heart muscles are

electrically silent.

QRS complde——-H— Depolarisation of

ventricles.

T wave 1I. Depolarisation of

atria.

T-P gap IV. Repolarisation of

ventricles,

Choose the correct answer fro

m thie options given
below :

(AL, BAIL, C-IV, Doy

(2) AL, B-IIL, C-I, DIV X
3) A-IV, B-II, C-I, D X

(4) A-L By, C-IV, D-1 X

-

Given below are two statemen;s 3

Statement I : Gause’s competitive exclusion

principle states that two closely related species
e ——

competing for different resources cannot exist
indefinitely.

Statement 11 : According to Gause’s principle,
during competition, the inferior wil] be eliminated.
s - & 3y -4
This may be true if resources are limiting. A"
{

In the light of the above statements, choose the
correct answer from the options given below :

(1) Both Statement I and Statement II are false.

(2) Statement 1 is true but Statement 11 is false.

\_/(,})lstal‘emenl I'is false but Statement 11 is true.

(4) Both Statement I and Statement Il are true.

R3 English |

188

189

28

Loop of Henle of juxta
7 J

190 Match L

C. Cushing’s

D. Cretinism

Given below are two statements :
Statement I : Mitochondria and Ch[OI‘Oplasts are
both double membrane bound organelles \—
Statement II : Inner membrane of mitoch
is relatively' less permeable, as com
chloroplast.

Inthelightofthe above statements, choose the Most
appropriate answer from the options given beloy, :
(1) Both Statement [ and Statemen

incorrect.

Statement I is correct but State
incorrect.

ondrij,
pared t,

t 11 are

(2)

ment [J g

(3)

Statement I is incorrect but Statement ] is
correct.

Both Statement I and Statement [[ are correct.

4)

Choose the correct statement given below

regarding juxta medullary nephron.

(I) Renal corpuscle of juxta medullary nephron
lies in the outer portion of the renal medulla.

medullary nephron
runs deep into medulla.

Juxta medullary nephrons outnumber the
cortical nephrons.

Juxta medullary nephrons are located in the
columns of Bertinj.

(3)
4

st [ with List 11 :

List I List IT
A.  Exophthal I. Excess secretion of
goiter cortisol, moon face &
hyperglycemia
Acromegaly

Hypo-secretion

of thyroid hormone
and stunted growth.
Hyper secretion

of thyroid hormone &

protruding eye balls.

V. Excessive secretion
of growth hormone.

from the options given

syndrome

Choose the Correct answer
below :

(1) A-IV, B-11, C-1, D-111 )Q

(2)  A-NL, B-1V, C-11, D
-1, B-1V, C-I, D1

(4) A-L B-1IL, C-11, D1y X

[ Contd...




161 Match List I with List I :
List 1
A. Fibrous joings

165 Match List I with List IT :
List 11 List I List.I{
. Adjacent A. Expiratory ¢, Expiratory ltzseirve
L vertebrae, limited capacity volume + Tida

IR u,ia
movement \'

¢ry volume +
b n i Humerus and L Inspiratory reserve

B. Cartilaginous

joints :' Pectoral girdle, [~ volume
‘) rotational B. Functional ¢~ Tidal volume +
oyemedt residual ™\ ) Expiratory reserve
1 5 \
C. Hllnfe _ Shull t capacity volume
IRl —oan C. Vital capaci 111, Tidal volume +
moy . :
: «+ Lnspiratory reserve
D. Ball and (V. Knee, help in 1p ry
socketjoints  wy  locomotion _ - i) e !
Choose the correct angwer from the options given D. Inspiratory /ry Expiratory HeSEle
below : ) capacity f« volume + Residual

£
(1) A-L, B-III, C-II, P;IV
(2)  A-IL B-III, C-L, DIV

5 Choose the correct answer from the options given
_GL-AIL B, C-W,gg-ll below :

4) A-IV, B-IL, C-III, D-I (1) A-II, B-II, C-IV, D-I

_ (2) A-IL B-I, C-IV, D-II
162  Which of the foilowingWﬂormpne? (3) A-L B-III, C-IL. D}V
(1) Testosterone 1(®) Progesterone ; PP,

4 1, B-IV, C-I, D-fif’
WGlucagon () Cortisol LM C-1, D-il

¢~y volume

o
M Y .
163 In both sexes of cockroach, a pair of jointed 166 Three_: types of muscles are given as a, b and c.
filamentous structurescalled anal cerci are present {d:n:} fy t.h el(: CIREC] matcm‘g}g pair along with their
on: &y ocation in human body&. o
Mb segment {4

’

(2) 8" and 9th segment

RS

(3) 11 segment %%%é
(4) 5™ segment %%%%
O EEtnt:
164 Given below are twosstatements : one is labelled s
as Assertion A and-the other is labelled as @) ®)
—" “F Name of P, .
Assertion A ;: FSH a‘?,tsfupon ovarian follicles in \_’M " muscle/loca?l?[lﬂ '
female and Leydig cells in male, X (@) Skeletal - Tncﬁﬁ’?;s
Reason R : .Growing ovarian follicles secrete (b) Smooth - Stomiach
estrogen in female while interstitial cells secrete (¢) Cardiac - Heart,
androgen in male human being, 2) (@) Skeletal-Bicepg
In the light of the above statements, choose the (b) [nvoluntary - Intestine 4
correct answer from the options given below : (¢) Smooth - Healt:‘,«.
(1) Both A and R 48 true but R is NOT the (3) (a) Involuntary - Nose ti
correct explanation of A (b) Skeletal - Bong
(2) Aistrue but R ik'false " (¢) Cardiac - Heaft~
“(37 A is false but R f true ) (a) Smooth . Toes’l}:;
(4) Both A and R afeltrye and R is the correct (b) Skelstal - L ‘.""C'K
explanation of Al tal - Legs
(¢) Cardiac - Heart. oy
R3_English | | ContC...
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B.

Match List Twith List 1l related to digestive system
of cockroach.

List 1 () List 11
The structures us'cd” . Gizzard
for storing of Inoil \
Ring of 6-8 b[llldﬁ . Gastric
tubules at junction of Cacca
foregut and midgfu"l'..
Ring of 100-150 yellow 111, Malpighian
coloured thin . 7 tubules
filaments at junc'fiSn of
midgut and hindiglué.

D. The structures uscd IV.  Crop

for arindinc the foad

—_,

Choose the correct answer from the options given
below :

(1) AL B-I1, C-INED-IV p¢_
(2) A-1V, B-I1I, C-ﬂ'DI
(3) A-II, B-II, c;v, D-1'¢

Mlvallcnrbl

197

i 5-}
Given below are two statements :

Statement I : Th‘e cerebral hemispheres are

connected by necrve tract known as corpus
callosum. )

Statement 11 : Th!é joram stem consists of the
medulla ob[ongata pons and cerebrum.

fY

q¥

In the light of the above statements, choose the

most appropriate answer from the options given
below :

(f) Both S‘latemept I and Statement IT are
incorrect,

(2 tatement | 15'porrect but Statement II is

incorrect. L

(3) Statement I ik ‘incorrect but Statement I is
-

correct.

{ '-.. J '
(4) Both Statementland Statement || are correct,

R3_English |

30

199

+ "‘J R e———————y
O". Their respectlye genotype can be

200

198 Match List I with List I :

List I List IT
A. Mesozoic Era gl  Lower invertebrates
B. Proterozoic Era “JI. Fish & Amphibia
C. Cenozoic Era ("I, Birds & Reptiles
D. Paleozoic Era {fV Mammals

Choose the correct answer from the options given
below :

(h
(2)
3)
(4)

L
A-III, B-1, C-II, (e
A-L, B-II, C-1V, D-111
A-IIL, B-1, C-Lyj D-II
A-ll, B-I, C-ITTJ'D-Iv
er)

As per ABO blood érouping system, the blood
group of father is B*, mother is A* and child i is

A, IBi/1Aj/ii o
B. IBIB/IAIA /i
C. IAIB/{IA/Bim
D. A/ 1Bi/ 1Ay
E

iIB /i1A / [A[B. ");(
Choose the most iappropr:ate answer from the
options given below

(1) Bonly D (2 C & B only

(3) D&E only Wonly
e

L)

Given below are twe statements :

Statement I : Boné'arrow | is the mai

organ where all blodd cells including |
are produced. [

Statement II : BSth bone marrow and thymus
provide micro envhjonments for the development
and maturation of T- lymphocytes.

Inthelightofthe above statements, choose the most
appropriate answqr from the options given below :

(1) Both St'ltemqnt [ and Statement I1 are
incorrect.

n lymphoid
ymphocytes

(2)

Statement I \b

jeorrect but Statement II is
incorrect,

(3)

Statement | i;S jncorrect but Statement 11 is
correct. W v

Both Statement 1 and Statement I are correct.

C))

| Contd...
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167 Match List I with List I :
List I List 11
A. Lipase - 1. Peptide bond
B. Nucleasex . Ester bond
C. Protease Glycosidic bond
D. Amylase Phosphodiester bond

.
Choose the correet answer from the options given
-
LD

(1) A-III, B-II, C-1, D-1V
(2)_#1, B-1V, C-1, D-11I
(3) A-1V,B-L; Cm D-11
4 AlVBll cm D-1

below :

E
")
168 The flippers df"the Penguins and Dolphins are

i

the example of thc
(1) Natural se[ectlon
Mwergent evolution
3) Dwergem évolutlon
4) Adaptwe radiatlon
5 F
Following are’ﬂ]e stages of cell division :
Gap 2 phas’e b3
Cytokmesm S’
Synthesis phase )

169

L
Karyokiné§is Y
Gap 1 phase i

Choose the cdirect sequence of stages from the
options glven below :

A

B.
(B
D
E.

(1) EBD-AC
‘J},)/E-C;/}'D'B

170 Whichone of the following factors will not affect

(2) B-D-E-A-C
(4) C-E-D-A-B

the Hardy-Wemberg equilibrium?
(1) Genetic drjft

(2) Ge ‘mlgrat:on
\Alan't gene pool

(4) Genetic'récombination

R3__English |

Given below are two statements :

Statement I : The presence or absence of hymen
is not a reliable indicator of virginity. ¥~

Statement I1 : The'liymen is torn during the first

coitus only. ()

In the light of the hbpve statements, choose the

correct answer froifithe options given below :

(1) Both Statemeht I and Statement Il are false
Statement I is rue but Statement IT is false

(3) Statement I is false but Statement Il is true

(4) Both Statement;| and Statement II are true

171

i

172 Match List | with List 11 :

List T =) List IT
A. Typhoid SN Fungus
B. Leishmaniasis [I. Nematode
C. Ringworm [II. Protozoa
D. Filariasis V. Bacteria

Kd] ; .
Choose the conect,answer from the options given
£

below_

Ver(; IV, B-111, c1 D-II
(2) A-ILB-LC JV, D-II
(3) A-IL, B-IV, C:III, D-I
(4) A-L, B-IlI, C-If/D-IV

173 Given below are some stages of human evolution.
Arrange them in. correct sequence. (Past to

Recent) {7

A. Homo habilis{"/

B. Homo sapzens y

C. Homo neanderfha!en sis
D. Homo erectus” ‘9

Choose the correct sequence of human evolution
from the options given below :

() B:A-D-C igt (2) C-B-D-A
\\M—D-C-B “§# (4) D-A-C-B
P / ;- .,) P —
174 Which of the fblilc')\jving is not a component of
Fallopian tube? -
(1) Isthmus (2) Infundibulum

Tterine fundus

(3) Ampulla '
| Contd...



175  Consider the following statements :
A.  Annelids are true coelomates v~
B. Poriferans are pseudocoelomates X

s Aschelminthes are acoelomates }C

D. Platyhelminthes are pseudocoelomates w

Choose the correct answer from the options given

below :
W only (2) Conly
(3) Donly (4) Bonly

176 Match List | with List [] :
List I

List IT
A. Axoneme [ Centriole
B. Cartwheel Il Cilia-and flagella
pattern : o
C. Crista IlI. Chromosome

D. Satellite IV. . Mitochondris

Choose the correct answer from th
below :

(1) A-IV, B-II, C-II, D1X
(2) A-II, B-IV, C-I, D-IMI

\yAJl, B-1, C-Iv, D-I1

(4) A-IV, B-INI, C-I1, D-I W

¢ options given

177 Match List I with ListII :

List I List TI
A. Pterophyllum L. Hag fish
B. Myxine ‘ . Saw fish
C. Pristis /IT:I. Angé[ fish
B

Exocoetus =———ty— F lying fish

Choose the correct answer from the options given
below :

\_ (WAL, B-I, C-1I, D-IV
(2)  A-1V, B-1, C-II, D-IN
(3) A-llI, B-Il, C-1, D-1V
(4) A-l1, B-1, C-111, D-1V

R3 English |

178 Match List [ with List IT :
List 1
A. Pons L.

List IT
Provides additiong
space for Neurong
regulates postyre
and balance,
Controls
respiration and
gastric secretiong,
IlI. Connects different
‘r_ééions of the

B. Hypothalamus I1.

C. Medulla

—Drain _
D. Cerebellum IV. Neuro secretory
cells
Choose the correct answer from the options gjven

below_:
AT} A-IIL, B-IV, C-IL, D-I
(2) A-L B-III, C-II, D-TV
(3) A-IL, B-I, C-IIL, D-1v X
(4) A-IL, B-II, C-1, D-IV X
179 The following diagram showing restriction sites

in E.coli cloning vector pPBR322. Find the role of
‘X’ and ‘Y” genes :

LM gene “X” is responsible for controlling

the copy number of the linked DNA and ‘¥’
for protein involved in the replication of
Plasmid.

(2) The gene ‘X° is for protein involved in
replication of Plasmid and °Y” for resistance
to antibiotics,

(3) Gene‘X’is responsible for recognition sites
and ‘Y’ is responsible for antibiotic
resistance. )

(4) The gene “X is responsible for resistance to

: antibiotics and ‘Y’ for protein involved in
the replication of Plasmid.

[ Contd...
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62  Match List [ with List II.
ListI List IT
Quantum Number Information provided
Aomy I.  shape of orbital
B. g I1. size of orbital
C. I 1. orientation of
orbital
D. n IV. orientation of spin
of electron
Choose the correct answer from the options given
below:

(&1L, B-IV, C-1, D-II
(2)  A-lIL, B-1V, C-11, D-1 X
(3) A-IL, B-I, C-IV, D-III ¥
(#4) A<l B-IlI, C-II, D-IV %

63 The Henry’s law constant (Ky;) values of three
gases (A, B, C) in water are 145, 2x10-> and

af

W%

|
A&@» {

64

35 kbar, respectively. The solubility of these gases
in water follow the order:

WB>Cc>A (2) A>C>B

3) A>B>C 4) B>A>C

In which of the following processes entropy

increases? -

A. A liquid evaporates to vapour. 7

B. Temperature of a crystalline solid lowered
from 130 K to 0 K. )

C. 2 NaHCO3y—>NayCOs) + COyy) + HyO0) ]

D. Clyg=>2Cly, v~

Choose the correct answer from the options given

below:

1) ABandD L& A,CandD

(3) CandD 4) AandC

65  Given below are two statements:

Statement I : Aniline does not undergo Friedel-
Crafts alkylation reaction.. A~

Statement I : Aniline cannot be prepared through
Gabriel synthesis.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are false.

(2) Statement I is correct but Statement II is
false.

(3) Statement | is incorrect but Statement II is

ue.
(\io? Statement | and Statement II are true.

66 ehling’s solution ‘A’ is

(1) alkaline copper sulphate

%rm::m solution of sodium potassiuy,
tartrate (Rochelle’s salt)

(3) aqueous sodium citrate
(4) aqueous copper sulphate

67  Activation energy of any chemical reaction ca

be calculated if one knows the value of

(1) probability of collision.

(2) orientation of reactant molecules during
collision.

(3) rate constant at two different temperatures,

Em\v\h;m constant at standard temperature.

68  Arrange the following elements in increasing

order of first jonjization enthalpy:
J
Li, Be, B, C, N
Y I N o \vh ] )
Choose the correct answer from the options given
below:

b _rTi<B<Be<C<N
(2) Li<Be<C<B<N
(3) Li<Be<N<B<C
(4) Li<Be<B<C<N

o I .
1 gram of sodium hydroxide was treated with

25 mL of 0.75 M HCl solution, the mass of sodium

69

hydroxide left unreacted is equal to NoaW+ Img
kB
%mo mg (2) Zeromg ks [\ I8
X
(3) 200 mg (4) 750 mg e
/3¢

70 A compound with a molecular formula of C¢H 4

has two tertiary carbons. Its [UPAC name is:

—_—

R3_English ] 10

a0 H
Q% 46

bb

¢ ¢
(1) 2-methylpentane m.\w.tm\.l ”
P\Q\v\hw-%:ﬁ?u\_gzm:w 2 2
(3) 2,2-dimethylbutane
(4) n-hexane
[ Contd.-
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D. Klinefelter’s

5 Ma[ch List [ with List I :

List I1

11t chromosome

List I

Down’s syndrom I.

B. a-Thalassemia 11. +*X’ chromosome
I. 215t chromosome

a\/ .
V. 16 chromosome
syndrome

Choose the correct answer from the options given
below :
1) A-lL, B-lIL, C-1V, D-1

p -Thalassemi

( '
A-IIL, B-1V, C-1, D-I1,

156

(3 AV, B-1, C-11, D-lII
(4) A-l B-II, C-I1, D-1V

Match List I with List 11 :
List I List II
A. Non-medicated IUD Multiload 375
B. Copper releasing TUD II. Progestogens
C. Hormone releasing [IUDNIL Lippes Eoof'i
D. Implants ~ LNG-20

Choose the correct answer from the options given
below :
(1) A, B, C-IV, D11 X
(2) A-IV, B-I, C-II, D-III 1
A-111, B-1, C-1V, D-1I
(4) AL B-L, C-II, D-1V

157 Match List1 with List IT:

List I List II
A. Pleurobrachia I.  Mollusca
II. Ctenophora

B._ Radula .
- R

C. Stomochord ﬁ Osteichthyes

D. Airbladder Hemichordata
Choose the correct answer from the options given

below :

WAL B-1, C-1V, D-1I

(2) A-l B-1V, C-1, D-11I
(3) A-1V, B-111, C-11, D-1 N
(4) A-1V, B, C-111, D-1 "

R3_English |
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158 Which of the following factors are favourable for

159

o w

the formation of oxyhaemoglobin in alveoli?

igh pO, and Lesser H concentration
(2) Low pCO, and High H” concentration
(3) Low pCO,and High temperature
(4) High pO, and High pCO,

Match List I with List II :

List I List I1

Cocaine N Effective sedative in
surgery

Heroin . Cannabis sativa

Morphine Il. Erythroxylum

Marijuana IV. Papaver somniferum

Choose the correct answer from the options given
below :
(1) A-l, B-II, C-II, D-IVK
(2) AL, B-I, C-11I, D-IVY
_I11, B-1V, C-I, D-II
(4) A-1V, B-lI, C-1, D-II

160 Match List I with List IT :

List I List I1

(Sub Phases of (Specific

Prophase I) characters)

Diakinesis I.  Synaptonemal
complex formation

Pachytene [I. Completion of
terminalisation of

‘ chiasmata

Zygotene [lI. Chromosomes
look like thin
threads

Leptotene IV. Appearance of
recombination
nodules

Choose the correct answer from the options given
below :
(1) A-I, B-II, C-1V, D-11I
25 A-Il, B-1V, C-I, D-III
(3) A-IV, B-III, C-11, D-1
(4) A-IV, B-II, C-III, D-I

[ Contd...




Given below are two statemeﬁts:

71
Statement I : The bolig_?g point of three isomeric
entanes follows the'order ~x )

, <y
n-pentane > |sopenta‘lﬁ > neopentane

Statement II : When)branching increases, the
molecule attains a shape of sphere. This results
in smaller surface aréifor contact, due to which
the intermolecular fbfdes between the spherical
molecules are weak, thereby lowering the boiling
point. WO
In the light of the abgye statements, choose. the
most appropriate ane‘v%er from the options given
below: \0)
(1) Both Statemepnt | and Statement II are
incorrect. <

Statement I is ‘C'(}rrect but Statement II is
incorrect.

2

Statement I is incorrect but Statement II is
correct. W

e
C}A}”Both Statementri ‘:ii]d Statement [1 are correct.
LN

In which of the folldwing equilibria, K, and K
are NOT equal? (O pp= Ke RTTH

; e Ang =0
(1) Hy) T Ia =¥ Hlgy » ,q:,i%
(2) COw*+H0 = COxg + Hagr

3)

72

(3) 2BrCl = By * Clag)

u{"_'%
Mls(g) <= PCiffy + Chg

L0
The reagents with which glucose does not react
to give the corresponding tests/products are

73

Tollen’s reagengt“g—j‘:3 v

A.
B. Schiff’sreagent
C. HCN W
D. NH,OH o
E. NaHSO; )
Choose the correct og;;fbns from the given below:
(1) AandD (2) BandE
E and D {4y BandC

R3_English |

74  Match List I with List II.
List I List I1
(Compound) 'O (Shape/geometry)
A. NH; ﬂf'y < . Trigonal Pyramidal
B. BrFssp? dzg/ﬂ. Square Planar
C. XeF,3p*d < Il Octahedral
D. SFq Yy [V. Square Pyramidal
Choose the cokfdct answer from the options given
below:

(1) A-IL, B-I¥yC-11, D-I
(2) A-III, B-Y; C-I, D-1I
(3) A-II, B-IH;C-IV, D-I

(-, B, DAL

E"ﬁ.v
75  Among Groupq% elements, which one does NOT

show —2 oxidation state? 1))
(1) Se (2) Te ;
Po 4 ov
) 0 ) -
.~ P
76  Match List 1 \ﬁi’i List II. i
ListI (Reaction}) List IT (Reagents/
[= .ee
e Condition)

(0]
I, @JKCI/

Anhyd.AICl;

- <
e 0 B

Oﬂ‘
5. Q-0

(Y
. O¥-gr

II. CrO,

. KMnO,/
gﬁ—.. KOH, A

=)
p. CF e,

@,COOK

Choose the cotrect answer from the options given
below: I -

(1) AL BLEIL DIV K
ATV, B-gﬁ.&-ll, D-III

(3) A-L B-IV+-C-IL D-IITK

(4)  A-LV, B-I€-111, D-II

V. (i) O
(ii) Zn-H,0

g

11
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A logic circuit provides the output Y as per the
following truth table :

33

- — o o|x

B
0
1
0
1

The expression for the output YVis:
g7 & L
W AB+4 ® l&yB
(3) B )y AB+A4 B®
ru.,,f 0 p
e,

In a uniform magnetic field'd£0.049 T, a magnetic

Physics : Section-B (Q- No. 36 to 50)

36 A metallic bar of Young’s modulus,
0.5 x 10! N'm~2 and coefTicient of linear thermal
expansion 10-50oC-!, length I m and area of
cross-section 10-3 2jis heated from 0°C to 100°C

without expansion ¢ bending. The compressive
force developed infifls:
l')
0x 103N . (2
(1 50x {\( )

(3) 2x10°N ©Q®) 5x 10N
O

100 x 103N

rrect circuit which can achieve the

37  Choose the co
'® )

<}
(1)
L)

D,

2

34
needle performs 20 complete oscillations in
0 - 5 seconds as shown. The moment of inertia of the
<ﬂﬁ;;4°r needle is 9.8 x 1076 kg t‘gﬁz: If the magnitude of
{ magnetic moment of the T{i}?z'edle is x x 105 Am?;
then the value of ‘x’ is Jt
v ‘ E ! Mz -@
4% Y L = @7
#E‘/ p é::"p.;“‘ = Hbf C;.:,
. 3 4 s 38 A smalltelescope Hds an objective of focal length
Y 140 cm and an eye piece of focal length 5.0 cm.
X The magnifying power of telescope for viewing
(1) 128 nz (2x1 50 1:2 a distant object is:—g;?;
¥} (o)) 2%
G3) 128077 @y 57 UD./ZS Y a2
e (3) 32 {“h. (4) 34 "'"3"
s O
) g 0 i Rabel W0
35 Abohis Whlfl":’d m.a ‘h‘or 1zc3nta plane by means | 39 An i_ron bar of length L has magnetic moment M.
of a string with an initial speed of ® rpm. The It is bent at the middle of its length such that the
tension in the string is T}rlf speed become§ 20 two arms make an angle 60° with each other. The
while keeping thfﬁirrn___e;%l_iys, the tensiqn in the i magnetic moment"(t)_fthis new magnet is:
string becomes : ah = r= T | o >
ﬁ: r WT ey M @ 2m
. 9 — . 2 ¥
(AT (iif_ ” =uT :5
) M (E‘?
@ 2T 49 T @ 5 o @ M
R3_English | 6 Y
~ v Len Y0
— @, pRL S [ Contd...
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78

79

Tt . e W
&N BE
g w*

Arrange the following elements in_jpcreasing
order of electronegaliy ity :

N0 B I S
Choose the correct answer [rom the options given

below:

(1) Si<C<O<N<F_
(2) O<F<N<C<Si
(3) F<O<N<C<Si

LM:(‘—N-:G«F
a—l—

Intramolecular hydrogen bonding is present in

R ———————.

NO,
m ST
HO
NO-,
(2) ©/ ‘

1O
(3)

HI
NO,
(4
oH

Identify the correct reagents that would bring
about the following transformation.

O—CH:—CH =CH, —
{ )—cny-cn,-cno

(1) (i) BH;
@
(1) ll,O.,/OH
(ii1) PCC
(2) (i) BI;
o X
(i) H ,oz/on
(iii) alk. KMnO,
(iv) ||_105
( 1) Ill(),’ll'
(11) PCC
(3) (i) H,OH
(1) CrO,

R3_English |

H0

81

82

Match List [ with List 11,
ListI List 11
(Conversion) (Number of
a2 Faraday requireq
A. I molof H,0Oto 82 \ L 3F
B. 1 molof MnO, to 1. 2F
MnZ*
C. 1.5 mol of Ca from il 1E
molten CaCl,
D. I molof FeOto Fe,0O; IV. 5F
Choose the correct answer from the options giver
below: '
(1) A-IIL B-1V,. C-1, D-lI
(2) A-IL B-lIL C-1, D-1V
(3) A-lIL B-1V, C-II, D-I #
(4 I1. B-1V, C-1, D-111
Given below are two statements:
Statement I : The boiling point of hydrides of
Group 16 elements follow the order
H,0 > H,Te> H,Se > H,5. (Sl
Statement IT : On the basis of molecular mass.
H,0 is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,0. it has
higher boiling point.
In the Iighl of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement I are false.
(2) Statement | is true but Statement I1 is false.
(3) Statement | is fals¢ but Statement 11 is true.
oth Statement | and Statement 11 are true.
Given below are two statements i
N

a3 3. L
Statement I : Both [(;(‘;(NHS)J and [C°F6‘

complexes are octahedral but differ in their
magnetic behaviour.

Statement IT : lCO(NHS)(, J" is diamagnetic

~

3 -
whereas [CoFé] is paramagnetic.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement Il are false
(2) Statement | is true but Statement II is false.
(3) Statement | is false but Statement I1 is tru¢
oth Statement | and Statement II are true-

| Contd.~
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In the above diagram, 4V§trong bar magnet is
moving towards solenoid-2)from solenoid-1. The
direction of induced currgnti id-1 and that
i1? solenoid-2, respectiyely, are through the
directions: W
L BaandcD  (2) ABand CD
(3) BAand DC (4) ABand DC
W
Two bodies A and B ¢filsame mass undergo
completely inelastic ond dimensional collision.
The body Amoves with vélocity v while body B
is at rest before collisign: The velocity of the
system after collision is 15 The ratio vy : v, is
2:1 (DD 4:1
1:4 4) 1:2

L

. oY oM
WAV = (v ) U
m's &wvy

_\ﬁl':»"’"ﬂ

w

—

11

“‘."‘\uu

(3)
Vye 8w ¥ 0

Given below are two sta‘téﬂwnts: one is labelled
as Assertion A and thé_ég;olher is labelled as

Reason R. Ny
L)
Assertion A : The potential. V') atany axial point,

at 2 m distance(r) from thie centre of the dipole
(\o St

of dipole moment vector P of magnitude,

4x1076Cm,is +9x10{df - 3
———?:;; X w =3
i Ve =
["Ghits) X q“‘}q#‘
L) # [
; # ﬁ)*
e =
4n &,
T
distance of any axial point, situated at 2 m from
the centre of the dipole.t”
In the light of the above statements, choose the
correct answer from thé gptions given below:
(1) Both A and R arextfue and R is NOT the
correct cxplanatioxaaglnjf A.
(2) A is true but R is fplse.

U_}‘f}/A is false but R is frue.

(4) Both A and R are {Ty¢ and R is the correct

12

1 9
g =9x10
(Take - o x S

Reason R : V=% . where 7 is the

Uys Py + e (U
P+ &

b
¥ 16
Xy

A

explanation of A. (0)

R3 English |

s

hose emf is

The terminal voltage of the battery, wi
ted

10V and internal resistance 12, when connec
through an external resistance of 4 Q) as shown
in the is:
in the figure is ij: Tiv = C -~ Tr
4Q .
-

9

13

-_—
-

- - - -

4) 4V

A particle moving with uniform s eed in a circular
path maintains : W

constant accel&ation. O

(2) constant velo€ify but varying acceleration.X

(3) varying velocit§)and varying acceleration. X
PBnstant velogity.

The graph which sHéws the variation of

and its kinetic energy, E is (where ] is de Broglie

wavelength of a frag particle) : =$$ I
ik A e

14

I
a2

I

£-)
y’

v«ﬁ%

‘ﬁai ~
n = M et
2| 2
b < "t . ExLe
.
(o] l:.:) 0~ i
. O ’
—_— i 1
\_&r" 22 @ &
: EL To E

(0]
a=

A light ray enters t \gﬁ ugh a right angled prism at
point P with the angl¢ of incidence 30° as shown
in figure. It travels, through the prism parallel to
its base BC and emerges along the face AC. The
refractive index of?lﬁe prism is:

#; gmie AT

A
x(7 Néca},"“” be
g (v - > U V2
X 2
L } >

3 = o @
[- %3~ '
./_v ® [ Contd...
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|
- w) 7
- o-c(W"_T J | Chemistry : Section-A (Q. No. 51 to 85)
1 bocation am the followi
47 A force defined by I = or? + 3¢ acts on a particle =l i‘jw e B
at a given time 7. The factor which is ' [
s . Y W4 CH3
dimensionless, if o and B are %:onstants, is: 8 (le
N
i ~ (1) /H\ /
(2) «a CH
t/()”/ﬁ By 3 Ha cn3
af 3
3) / / (2) Q— CH,
48 Ifthe plates of a parallel plate Eabacnor connected CH: "
. to a battery arc moved close to each other, then
A. the charge stored in it, increases. e t/{)ﬁ‘ % 7
B. the energy stored in it, détreases. R N
C. its capacitance increasesji v CHsf
D. the ratio of chalge to its"potential remains /*\
the same. ¥ ) H3C/\CH dH3
E. the product of charge arld Vvoltage increases. v o> e
Choose the most appropriate, answer from the -3
optionseiven below: i § i 52  Forthe reaction 2A = B+C K, =4x107". At:
\LH/A%%: and E only . given time, the composmon of reaction mlx%ure
(2) B,DandE only - -3 Qe 3
(3) A,BandC only i i35 [al=[B]=[c]- 2o Il ,,f
(4) A,BandE only ] Then, which of the followmg isegorrect?
L‘i (1) Reaction has a tendency to go in forwar
49  The following graph represexllts the T-V curves of direction. :
an ideal gas (where T is the témperature and ¥ eaction has a tendency to go in backwar
the volume) at three pressﬁres P,, P, and P, direction. -
compared with those of Charhes\s law represented (3) Reaction has gone, to completton in forwar
as dotted lines. "‘"\‘V: LT direction.
pv = (4) Reaction is at equilibrium.
[I- .l,PE-’i'J- 53 ‘Spin only’ magnetic moment is same for whic!
N = b
g v of the following ions?
" ") A. Tt UL B.! Cr?twelY
fai'F C. MnZta=g D.' Fe2+t n=\4
Then the correct relation is: [ E. Sc3tuz 0 S T2z 7,58 I
(1) B>P>P 2) P2 >R >8P Choose the most approprlate answer from th
options given below:
P
S>FR>R>A @ B> P> R (1) AandEonly (2) BandC only
. 3) AandD onl d D onl
50 The minimum energy required to launch a satellite ) Y an onty
f M
Of:inasj m gom thjrf::;[]?-cgrgi zir:; th?t]jsz of | 54 The energy of an electron in the ground stat
3';2 fml “:;’ slul:'fz(,e of the e rth is: (n = 1) for He* ion is —x J, then that for an electro
rom the A in n = 2 state for Be3*or ioninJis: gz z¥
2GmM egr;n!v! & Li) V
() 73R @) 2R (B -z (2) —4x Be
GmM SGmM i EH' ﬂ X/
V{) - 3_17(_ (4) 6R r— ’ =
¢ 9 W X
‘nglisl d-
R3_English | C(Hu«['_},,,_},) e uler wu w 0 'J‘cuuo [ Cont
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40

41

42

43

e

3) 4

-

A 10 uF capacitor is connected toa210 V, 50 Hz
source as shown in figure. The peak current, in

the circuit is nearly (m=3.14):

210 ¥, 50 Hz =¥

(3) 0354 4) 0584

- 6$K’ .
Two heaters A and B have power rating of 1 kW

and 2 kW, respectively. Those two are first
connected in series and then in parallel to a fixed
power source. The ratio of power outputs for these
two cases is:

(1 2:9
(3) 2:3

2) 1:2
4 1:1

If the mass of the bob in a simple pendulum is
increased to thrice its original mass and its length
is made half its original length, then the new time

period of oscillation is 5 times its original time

period. Then the value of x is:
(1) V2 @ 2.3
4 3

The property which is not of an electromagnetic
wave travelling in free space is that :
(M

the energy density in electric field is equal
to energy density in magnetic field. “*

1

they travel with a speed equal to o €0 -

(2)
they originate from charges moving with
uniform speed.

4)

they are transverse in nature. ¢

R3 English |

o= QuPHNTIX 5p Y
= IVXBYK Sy 10

UH/O-% A Q) 120

45

46

(M

R ———

4 A leat_E‘pIaced on a horizontal SL!rface in fron’t
of a strong magnetic pole. A force 15 needed to :
A. hold the sheet there if it is magnetic. .
B. hold the sheet there if it is non-magnetic.
C. move the sheet away from the pole with
uniform velocity if it is conducting.

D. move the sheet away from the pole with

(¢,q0-i',b‘ uniform velocity ifit is both, non-conducting
‘ and non-polar.

&l '31 Choose the correct statement(s) from the options
Yo X2y ¥ CXNMXID
=2 oNg YKy

2(5,9.M K 22y iy

given below:

(1) AandConly
(2) A,CandDonly
(3) Conly

(4) BandDonly

The velocity (v) — time (¢) plot of the motion of a
body is shown below :

o>v(ms™)

t(s) —

The acceleration (a) — time (¢) graph that best suits
this motion is :

t(s)—

A parallel plate capacitor is charged by connecting
it to a battery through a resistor. If I is the current
in the circuit, then in the gap between the plates :
N .
displacement current of magnitude equal to
I flows in the same direction as 1.

displacement current of magnitude equal to
I flows in a direction opposite to that of 1.
displacement current of magnitude greater
than I flows but can be in any direction.

@)
)

)

there is no current.

’_%__IL, _}L,/ [ Contd..,
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25 A‘Ijm'\z?mtal foree 10 is applied (o ablock 4 as
imwn n figure. The magg ofblocks 4 ang B are
2 k% m'\d 3 kg, fespectively, The blocks slide over
a frictionlesg Surface. The force exerted by block
/IonblockBis: Qe =7=Q wmfs
F=\10N
(M 4an L/@‘)/(:N
3) 10N (4)  zero
26

The quantities which h
as those of solid angle

ave the same dimgnsigus
are :

o+ 2

29 A wire of length */" and r.célil‘[l-li:l‘.i parts are
divided into 10 equal parts. I'he !' S parts are
connected in serics wiile the nu,\l s
connected in parallel. The two C.(?l"_‘ 'jnl;m—‘ of this
again connected in series. The resisté

finalgombination is:
L«)/LZZ 9)

3) 60O

100 QI8
e

(2)
(4)

550
26 Q2

30 If x= SSin(m + Ejm represents the motion of a
- 3

particle executing simple harmonic motion, tllle
amplitude and time period of motion, respectively,
are :

. (-p-’_';
75 m, 2 s @ sem1s K ¥y
(1)  stress and angle K () Sm,1s (4) Scom,2s K K
i . 31 Ifcisthe veloci of light in free space, the correct
2T strain and arc b % I the followi
A statements about 10ton amon € Tollowing
(3) angular speed and stress % X —_— P s N
(4)  strain and angle A.  The energy of a photon is £=py. L7
B. The velocity of a photon is c. 1L
27  The moment of n}ertla"ofa "chm rod about an axis C. The momentum of a photon, p = hv Y4 Y
Passing through its miq point and perpendicular c
to the rod is 2400 g cm?2. The length of the 400 g D. In a photon-electron collision, both tota]
rod is nearly V\_A"L"’;Qupl energy and total momentum are conserved.
1) 175 em ) 20.7 em AR~ E. Photon possesses positive charge.
= 2‘ )<\ W ) L".{ Wy Choose the correct answer from the options given
3) 72.0cm 8.5 cm below :
%3 E&}
28

LY =
Consider the following statements A and B an
identify the correct answer :

£

53 \_Q)/A,,B, CandD only -
2

(2) A,CandD only
(3) A,B,Dand E only
4) AandB only

32 Match List [ with List 11.
List I List 11
(Spectral Lines of ) » {Wavelengths (nm))
Hydrogen for Nz b2 '\‘;\};;» e
transitions from) ’_;.\ %ﬁ%{’) - GYRE
. . = = - 2
A. For a solar-cell, the -V characteristics lies A m=3ton =2 L 410 Az b,
in the IV quadrant of the given graph. \—7 B. ny=4to n =2 II. 434 %:'rrl.
.7 : . ’ = /
B. In a reverse biased pn Junction diode, the C. my=510 =2 M. 6563 -:?-%'[
current mea.surcd in (uA),isdueto majority B #=61% =2 V. 486.1 -;
charge carriers. Choose the correct answer from the options given
(1) Aisincorrect but B is correct. below. : .
' atid B aie ¢orrect Mﬁ-m, B-1V, C-I1, D-1 73
(2) Both A and B are . ’ @ &N BILOF Bt __!_3,
1 (3) Both A and B are incorrect. (3) A-L, B-IL, C-11L. D-1V [T
4~ A is correct but B is incorrect. (4) A, B-l, C-1V, D-111 4 _
oG
. 5 [ Contd.:,
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A wheel of a bullock cart is rolling on a level
road as shown in the figure below. IT its lincar
speed is v in the direction shown, which one of
the following options is correct (P and Q are any
highest and lowest points on the wheel,
respectively)?

P ov

e

o

Ttxu\ﬂm:: P moves faster than point Q.

(2) Both the points P and O move with equal
speed.

(3) Point 2 has zero speed.

(4) Point P moves slower than point Q.

18 A thermodynamic system is taken through the
cycle abeda. The work done by the gas along the
path bc is : Y bbﬂ*ﬂ

: A
\ﬁ, d c ol @9
300 kPaf - - - < A
100 kPaf - - - 5—> b
100 om? 200 cx?
yr—>
(1) 30J 2) —-90J
ﬂ.\awv\lmo J (4) zero
.. Ny,
19 In an ideal transformer, the turns ratio is —— = —.
) Ny, 2
The ratio ¥ : V), is equal to (the symbols carry
their usual meaning) :
w7 @) 1:1
3) 1:4 “4) 1:2
20 A thin flat circular disc of radius 4.5 cm is placed

gently over the surface of water. If surface tension
of water is 0.07 Nm~!, then the excess force
required to take it away [rom the surface is :

‘QPWﬂVvP

21
length if the elastic limit of steel and its Young'’s
modulus, womﬁon:<o_v\, are 8 x 103 N m=2 and
2% 101N : “pxi0 ¥
(1) 0.4 mm (2) 40 mm S \,ozh
(3) 8 mm U oy 210

22 The mass of a planet is —.—th that of the earth and

e

10
its diameter is half that of the earth. The
acceleration due to gravity on that planet is :

(1) 9.8ms=2 (2) 49ms32

L_3773.92m s (4) 19.6 m s>

In a vernier calipers, (V + 1) divisions of vernier
scale coincide with N divisions of main scale. If
1 MSD represents 0.1 mm, the vernier no:mﬁwi

4

23

V\w ‘(incm) is : PZ$D<5.. .\o&‘
1
% % (2) 100NV
1
3) 10WV+1) (€)) a

24 Given below are two statements :

Statement I : Atoms are electrically neutral as
they contain equal number of positive m:a
negative charges. —7

Statement II : Atoms of each element are stable
and emit their characteristic spectrum.

In the light of the above statements, choose the
most appropriate answer from the options given

below :

(1) Both Statement | and Statement Il are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement 1 is incorrect but Statement II is
correct.

(4 oth Statement 1 and Statement [l are

correct.

(1) 198N (2) 1.98 mN
(3) 99N b 79.8 mN
R3_English _ £ =
Tz
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33

34
needle performs 20 complete oscillations in
i 5 seconds as shown. The moment of inertia of the
<ﬁ o X needle is 9.8 x 105 kg 2 If the magnitude of
7% i : T . i€ 2
\ magnetic moment of the ﬂ,qfd]e isx x 1072 Am%;
‘, then the value of ‘x” is : LY Vo &
v g x @
* 3@’!'9(," o s
5 U
W Wz
WO
(1) 1287 )yl 50 72
()
(3) 12807 (4Pf Vsn?
<
oA
35 A bob is whirled ina horizontal plane by means

A logic circuit provides the output Y as per the
following truth table :

A|B t
0 [0 |10V
01 [0
1o [1F]
INIEES;
The expression for the output Yis:
pe | LG
\poS 4B +7 P Ueky s
N o 7l W." /
3) B @) AB+4 B
E-«._,, [} [
o

In a uniform magnetic fielddf0.049 T, a magnetic

of a string with an initial speed of ® rpm. The
ﬁ.——__—__‘-

sion in the string is 7. If speed becomes 2@

ten
s, the tension in the

i ; -
while keeping the same adliu
=T

g w0’ T =71

[: Physics : Section-B (Q. No. 36 to 50) j
of Young’s modulus,

36 A metallic bar
0.5 x 10! N m=2 and coefficient of linear thermal
expansion 105°C!, length I'm and area of
cross-section 1073 radis heated from 0°Cto 100°C
without expansion of bending. The compressive
force developed infifis:
L
(1) 50%10°N {9 (2) 100x 10°N
(3) 2x108N O@ 5* 103N
O
37  Choose the correct circuit which can achieve the
bridge balance. L0
ag:i.'a
o
X % :qi
D .
(1 )
E K
(3)
38  Asmalltelescope Has an objective of focal length

140 cm and an eye piece of focal length 5.0 cm.
The magnifying power of telescope for viewing

a distant object is:«yi

L8 ’l: :I' @) 17 28
(3) 32 ~ @) 34 =
o 5
0

An iron bar of length L has magnetic moment M.
It is bent at the middle of its length such that the
two arms make anrzig,ggle 60° with each other. The
magnetic moment;'of‘ this new magnet is:

i
b

39

string becomes : I
M WT' A M

AT o Z o in @ 2M

( [ - 4 T' 'I/‘( T l:""
o e M o

3) 2T AP T 3 7 (o @ M
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Arrange the following elements in_jpcreasing
order of cleclranegaliy ity

N, O F. C. Si
Choose the correct answer [rom the options given

below:

(1} Si<sC<O<N<E_

(2) O<F<N<C<Si

(3) F<O<N<C<Si

(4L S1<C<N<O<[
et

Intramolecular hydrogen bonding is present in

NO,
o T
HO
NO,
(2) Q/ ’

no
(3) HF
NO,

(4
OH

Identify the correct reagents that would bring
about the following transformation.

{ )—cn,-cu=cH, -
( )—cim,-cm,-cro

(1) (i) BH;
. S
() H‘,_O: OH
(i1i) PCC

(2) (i) BH;
i ||,02/6|—| X
Gin) alk. KMnO,
(iv) u;oi

( i) Ilz()"ll‘
(i) PCC
(n) CrO;

12

RO

81

82

Match List I with List I1.
List I List I
(Conversion) (Number of
Faraday i
5 ¥ requireq
A. 1 molof H,0t0 8, N '
1. | molof MnOi to 1. 2F
MnZ®
C. 1.5 mol of Ca from i 1F
molten CaCl,
1V. S5F

D. I molof FEO to Ff,():
+ s S
Choose the correct answer from the options giver,

below:
(1) A-IL B-IV. C-1, D-1l &

(2) A-IL B-IIL C-1, D-IV
(3) A-IIL B-IV, C-II, D-1 2
(4 il. B-1V. C-1, D-111

Given below are two statements:
Statement I : The boiling point of hydrides of
Group 16 elements follow the order
H,0 > H,Te > H,Sc¢> H,S. ¥
Statement IT : On the basis of molecular mass.
H,0 is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H50. it has
higher boiling point.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement | and Statement II are false.
(2) Statement [ is truc but Statement I is false.
(3) Statementlis false but Statement Il is true.
oth Statement | and Statement Il are true.
Given below are two statements Py
43 f"‘ Ji ;,R =
Statement I : Both IVCo(NIL) -, and [CoF 7
L d‘ 276 6

-

complexes are octahedral but differ in their
magnetic behaviour.

Statement II : [Co(?\'ils)é]‘ is diamagnetic

A_—

23— . ,
whereas [CoF6 | 1s paramagnetic.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both Statement | and Statement II are false
(2) Statement | is true but Statement 11 is false
(3) Statement [ is false but Statement I1 is true

oth Statement I and Statement I1 are truc

| Contd.-



TR TR e

o4 2

, esistance
29 A wire of length /" and ILHN;"N T

- The Lirst
divided into 10 equal parts. The ot i
connected in serics while the ne: [ i.m[ions e
connected in parallel. The two com v)l’":u: i
again connected in series. The resisté

finaLgombination is:
%2 Q

(3) 60Q

100 €)_is
-—-—";;:TH are

2) 550
4) 260

30 If x=S5sin (nl + E—)m represents the motion of a
-—
3

particle executing simple harmonic motion, tll1€
amplitude and time period of motion, respectively,
are : 1=

Mm,Zs .

22
(2) Sem,1s X Ww

(4) Scm,2 S K

If ¢ is the velocity of light in free space, the correct

statements about photon amon
are :

B) 5m,1s
31

g the following

25 Ahorizontal forea : :
shown in fi u(?l e 10 Nis applied 1o a bloek Aas
> kg and 5 18) re. The Mass of blocks 4 ind B are
) f:: t , ﬂ‘b« ICS!)cctwely. The blocks slide over
alrictionless ﬁurlacc. The foree exerted by block
A on block B ig i 1
F=10nN
——
() 4N \_r 6N
) 10N (4) zero
26 The Quantities which have the same dimensjopg
as those of solid angle are : \
(1) stress and angle W
2T strain and arc
(3) angular speed ang stress £ X
(4) strain and angle o
27 The moment of inertia of a thin rod about an axis
Passing through its mid point and perpendicular
to the rod is 2400 g cm2, The length of the 400 g
rod is nearly : WL ue
-
(1) 175cm (2) 20.7cm i o
o Sl 4
() 20em X’ |85 em '
A 2l
28

L¥ =
Consider the following statements A and B an
identify the correct answer :

g7

The energy of a photon is £ = Ay S
The velocity of a photon is ¢. 1_

o 0o w»

The momentum of a photon, p= by : W%
c

In a photon-electron collision, both total

cnergy and total momentum are conserved.
E.  Photon possesses positive charge.

Choose the correct answer from the options given
below :

23 MB C and D only
> (2) A,CandD only

(3) A,B.,Dand E only
(4) AandB only

Caces

32 Match List I with List I1.
List I List II
(Spectral Lines of | b Vavilengths (nm))
Hydrogen for X<z EZ TR = g
transitions from) ;‘_t _t.__;— = = z %
s = =D ) / 2
A. For a solar-cell, the [-V characteristics lies A. m=3to m I 410 re Tk .
in the IV quadrant of the given graph. \—7] B. m=4ton=2 1. 4341 ?6:-” ‘
il ; . . = }
B. In a reverse biased pn Junction diode, the C. my=Ston=2 ML 6563 —_‘?J}&e(
current measured in (uA), is due to majority D, ny=6ton=2 B aARRL =
charge carriers. Choose the correct answer from the options given
A is incorrect but B is correct. below.: .
. rect b-’n{%'\-m, B-1V, C-I1, D-1 73
(2) Both A and B are correct. @) ALV BN O T
(3) Both A and B are incorrect. (3)  A-l, B-IL, C-11L D1V frae
A is correct but B is incorrect. (4) A-1L, B-1, C-1V. D-111 4 .
5 | Contd.>.
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A 10 pF capacitor is connected toa 210 V, 50 Hz
source as shown in figure. The peak current, in

the circuit is nearly (n=3.14):

o

\ = iy AL X 5P
210 ¥,50 Hz =+

(3) 0354 (4) 0.58 4

LK 2%
b= 66)(’ " ‘f
Two heaters A and B have power rating of | kW

and 2 kW, respectively. Those two are first
connected in series and then in parallel to a fixed
power source. The ratio of power outputs for these
two cases is:

(1) 2:9
(3) 2:3

2) 1:2
@ 1:1

If the mass of the bob in a simple pendulum is

increased to thrice its original mass and its length

is made half its original length, then the new time
e —

. .. x . . - - .
period of oscillation is ) times its original time

period. Then the value of x is:

1) 2 2 23
4 3

The property which is not of an electromagnetic
wave travelling in free space is that :

(1) the energy density in electric field is equal
to energy density in magnetic field. “*

1

(2) they travel with a speed equal to m

they originate from charges moving with
uniform speed.

4)

they are transverse in nature. ¢

R3 English ]
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44 A sheet is placed on a horizontal sqrface in fron-t
of a strong magnetic pole. A force is needed to :
A. hold the sheet there if it is magnetic.
B. hold the sheet there if it is non-magnetic.
C. move the sheet away from thg pole with
uniform velocity if it is conducting.
D. move the sheet away from the pole w'ith
u fﬂ*ﬁ‘b— uniform velocity if it is both, non-conducting

and non-polar.

i "',f) Choose the correct statement(s) from the options
XG0y ¥ XM X1D

=2 oxg iy

given below:

(1) AandConly
(2) A, CandD only
(3) Conly

(4) B and D only

The velocity (v) — time () plot of the motion of a
body is shown below :
£
-
TO
t(s) —
The acceleration (a)—time (£) graph that best suits
this motion is :
5': ',T:: ~
g RS
g Loy TSl
T 10 e
.’I:: :u:: ~
£ E
3 3
" t(s)=> (4) g tis)—
A parallel plate capacitor is charged by connecting

it to a battery through a resistor_If I is the current
in the circuit, then in the gap between the plates :
e ————

Lpa/diSpIacement current of magnitude equal to

I flows in the same direction as .
(2) displacement current of magnitude equal to
I flows in a direction opposite to that of 1.
(3)

displacement current of magnitude greater
than [ flows but can be in any direction.

there is no current.
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